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The most important

recommendation  of  Sardesai
Committee set up by RBI for
improving effectiveness of RRB’s
is

(1) Change in capital structure

and ownership pattern.

(2) Introduction  of  capital

adequacy norms in a phased
manner.

(3) Introduction of Asset
Liability and Risk
Management Systems.

(4) Change of sponsor banks to

enhance competitiveness.

Marine Insurance business does

not include the following

terminology :

(1) Hull

(2) Third Party Liability (TPL)
(3) Cargo

(4) Endowment

(3-D)

Which of the following statement

is true ?

(1) A depositor is a secured
creditor of the bank.

(2) A Dbanker becomes the
creditor of the customer who
has borrowed loan.

(3) A banker is required to repay
the deposit amount on his
own accord.

(4) No banker is under an

obligation to honour his

customer’s cheques.

Regional Rural Banks avail
refinance facility from

(1) RBI

(2) IDBI

(3) NABARD

(4) SBI

A Garnishee order is issued by
(1) Judgement Debtor

(2) Judgement Creditor

(3) Judgement Debtor’s Debtor
(4) None of these
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Goods worth of ¥ 500 sold to
Parijatha. This transaction is not at
all recorded. It is called

(1) Error of Duplication
(2) Error of Omission
(3) Error of Commission

(4) None of these
In so far as a company is
concerned which of the following

pairs is not correctly matched ?

(1) Internal — Obligatory
Audit

(2) Statutory — Mandatory
Audit

(3) Continuous — Optional
Audit

(4) Management — Voluntary
Audit

The Auditor of a Govt. Company
is appointed by the controller and
Auditor General of India. His

remuneration is fixed by

(1) The C & AG

(2) Shareholders

(3) The
Annual General Meeting

(4) Board of Directors

Shareholders at an

10.

11.

(5-D)

Which of the

Revenue Reserve ?

following is

(1) Capital Redemption Reserve
(2) Security Premium

(3) Capital Reserve
(4) Debenture

Reserve

Redemption

The following is not a Revenue

Expenditure :

(1) Insurance Premium paid at
the time of Registration of
the ship

(2) Cost of raising a loan

(3) Cost of accessories of Motor
Vehicles spent at the time of
purchase

(4) Expenses incurred for laying of
sewers on the land purchased

Internal Auditor is appointed by
¢ > and he must be

(3 b

(1) The Management, Chartered

Accountant

(2) The  Shareholders, Cost
Accountant

(3) The Government, Chartered
Accountant

(4) ICWA, need not possessing
professional qualities
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3)

(4)

13.

14.
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12. Which of the following pairs are

13.

14.
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correctly matched ?
(1) Testcheck -

(2) Internal —
check

(3) Internal —

control

(4) Investigation —

Random
checking

A system of
automatic
check

Includes
internal
check &
Internal

audit

General
examination
of all
accounting

records

The function key F5 is used to

(1) Copy

(2) Find

(3) Num Lock
(4) Refresh

Laser printer is a/an

(1) Impact printer

(2) Non-impact printer

(3) Line printer
(4) Serial printer

15.

16.

17.

(7-D)

SELECT statement is used to

(1) Retrieve data from one or

more columns of query

(2) Retrieve data from one or

more columns of table

(3) Retrieve data from one or

more columns of report

(4) None of these

A single field or combination of
field that contains a unique record

is known as

(1) Primary key
(2) Query

(3) RDBMS

(4) Filter

What is a leveraged buyout ?

(1) Itis atype of joint venture.

(2) It is an acquisition in which a
large acquirer has leverage
through bargaining power
over a small target.

(3) It 1s an acquisition which is
funded from a relatively
large amount of debt.

(4) It 1s an acquisition which is
funded from a relatively low

amount of debt.
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In applying recognition and

measurement  principles  for
interim financial reporting, which
of the following is not considered

as constructive obligation ?
(1) Bonus

(2) Maintenance cost

(3) Income tax

(4) Contingent rent

If Free Cash Flows to the Firm
(FCFF) at the end of the last year
of explicit forecast period is
T 100 lakh, cost of capital is 15%
and growth rate of the firm is

constant at 5%, the terminal value

of the acquired firm is
(1) % 1,000 lakh

(2) % 1,050 lakh

(3) %950 lakh

(4) % 1,100 lakh

20. A risk faced by the company that

21.

(9-D)

while dealing in the international
trade, the currency exchange rates
may change before making the
final settlement, 1s termed as

(1) Accounting exposure
(2) Infinite exposure
(3) Transaction exposure

(4) Operating exposure

A Co. Ltd. Planning to acquire X
Co. Ltd by way of merger through
exchange of equity shares. The
exchange ratio is based on the
current market price. The
following data are available in
respect of companies :

Particulars A.Co. | X. Co.
Ltd. Ltd.

Earnings

after tax (3) | 2,00,000 | 60,000

No. of

Equity

Shares 40,000 10,000

Market

value per

share () 15 12

If merger goes through by

exchange of equity share, what is
the new earning per share of A
limited ?

(1) T542
(3) T4.95

2) %5.20
4) T4.17
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D3,3,03 TR BT P
A0TY 39,00 WBe30D), IFRS Iy,
T IPNS O IBAeen
LOINF I, e30°W BB IN) ?
(1) eU30,DAT CIAEI(ON
O3NS

(2) 28303 3TAC) 903N
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(1) 2,400 T.23.1¢H

(2) 7,500 F.8.1%H
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(4) 5,400 T.2.1H

25.

26.
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(1) T STRIND IRDT
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NIT,BS SBARIS L),

(3) IR ADBINF S, D AT,
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P03, TIODR), SBRIEE).

R)gedd® ToAE 10,000 Cwe, PsT,0
5,530° BT Tya3r TR S 10%
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FTORT 38,2330y, TOTB Go&AND.
(1) 11,200 Se.
(2) 12,500 Ce.
(3) 13,200 B.
(4) 13,000 So.
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Under IFRS, which of the
following inventory items are not
valued at the lower of cost or net

realizable value ?

(1) Manufactured

items

inventory

(2) Retail inventory items
(3) Biological inventory items
(4) Industrial inventory items

The segment of foreign exchange
market which comprises of banks
and financial institutions is called

as

(1) FERA

(2) Exchange Traded Market
(3) OTC Market

(4) Spot Market

Calculate Standard Quantity for
Actual Output :

Material consumed 2,500 kgs;
Standard 30 kgs per unit; Actual
output 80 units; Actual price I 4
per kg

(1) 2,400 kgs
(2) 7,500 kgs
(3) 3,200 kgs
(4) 5,400 kgs

25.

26.

27.

(11-D)

LIFO method of pricing of
material 1ssues 1s more suitable

when

(1) Prices are rising.

(2) Prices are falling.

(3) Prices are fluctuating.

(4) Prices are constant.

Process costing is suitable to

industries where

(1) Production is carried on in
two or more stages.

(2) Production is carried as per
customers’ orders

(3) Specialised

rendered.

services  are

(4) Production is carried on at

large scale.

Ascertain the cost of a job, where
Prime cost I 10,000, Factory
overhead 10% of prime cost, and
Office overhead 20% of works

cost.

(1) 11,200
(2) 12,500
(3) 13,200
(4) < 13,000
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Match the following correctly :

List-1 List-11

A. Batch 1. Railways
costing

B. Multiple  11. Buildings
costing

C. Contract 1ii.Garments
costing

D. Unit iv.Cycle
costing manufacturing

E. Operating v. Mines
costing

Select the correct answer using the
codes given below :

A B C D E
() i iv i v i
Q) i iv v i i
3) iv iii i i v

@ i i v v i

The annual demand for a product
1s 6400 units. The unit cost is ¥ 6
and inventory carrying cost per
unit per annum is 25% of the
average inventory cost. If the cost
of procurement is ¥ 75, determine
Economic Order Quantity (EOQ).

(1) 800 units
(2) 8000 units
(3) 3200 units
(4) 320 units

30.

31.

32.

33.

(13 -D)

Which one of the following is a
system which combines both time
and piece rate system ?

(1) Bedaux system
(2) Merricks differential system
(3) Halsey system

(4) Emerson’s system

A Foreign National comes to India
continuously  from the last
15 years and stayed for 110 days
every year. His residential status
will be

(1) Ordinary Resident

(2) Not Ordinary Resident
(3) Non-Resident

(4) Foreign Resident

Unabsorbed depreciation can be
carried forward for set off for a
period of

(1) 4 years

(2) 8 years

(3) 12 years

(4) Unlimited years

Interest on loan taken for higher
Education of an individual is
exempt under section

(1) 80C
2) SOE
3) 80G
4) 80L
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DWDE VRWON. DODD  16(ii)

FTOT GBI B IPNI03
TRIT, 9TBE VONTITS.

(1) 10,000 Swe.

(2) 6,000 Bwe.

(3) 5,000 Bwe.

4) I YY),

RTETIT NBRLNNY
ROTPETD), MDANES T3
1972 3 F0e330N0T
WENRROBT T BN AR,
NOR,, BRI TRONS MZHONEIN
301 ININDIOINEIOWINGY
BLONWTIT ?

(1) 2,00,000 Bo.
2)  2,50,000 B.
(3) 10,00,000 Bo.
(4)  5,00,000 Bo.

00D TWRET €938 2017-18 3
Bwa. 60,000 2508NONT); . &
B0 BRIV, 25 A ORI
30MedmE BB Ie)

(1) 60,000 Cwo.

(2) 42,000 Twe.

(3) 40,000 Twe.

(4) 30,000 Cwe.



34.

3S.

36.
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Deduction in respect of profits and
gains of an undertaking or
enterprise engaged in
development of Special Economic

Zone is allowed
(1) 100% of profits for 10

Assessment years

(2) 50% of profits for 10

Assessment years
(3) 100% of profits for 08

Assessment years
(4) 50% of profits for 08

Assessment years

As per Income Tax Act the person
responsible for paying the salary
is required to deduct tax at source

under

(1) Section 121
(2) Section 292
(3) Section 192
(4) Section 92

Capital gain on transfer of long
term residential house is exempted

under section
(1) 54

2) 54A
(3) 54B

4) 54C

37.

38.

39.

(15 -D)

A govt. employee received salary
of ¥ 1,20,000 and Entertainment
Allowance ¥ 10,000 during the
previous year. He spent ¥ 6,000
on Entertainment. He is entitled to
a deduction u/s 16(ii)

(1) % 10,000
2) 6,000
3) 5,000
(4) Nil

In case of non-govt. employees
covered by the Payment of
Gratuity Act 1972, what is the
maximum amount of gratuity

exempt from tax ?
(1) 2,00,000
(2) ¥2,50,000
(3) 10,00,000
(4) 5,00,000

A received T 60,000 as arrears of
rent during the previous year
2017-18. The amount taxable u/s
25 A would be

(1) % 60,000
(2) % 42,000
(3) 40,000
(4) % 30,000
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3533000 a0, 33,300T WOTI

e300 00T, TOTWY odaON

T FIENIJYNPAS  O0e)T)

@WDIN RIS IN) T30

SYARADIANN AT S IS

(1) BoIANOTW  WsRTTE)S
SR 00 AT TLe. 20,000

(2) DDITOTWIO DWDENYY TLo.
10,000

(3) sPOCT e3THT TJLBOEN
TRE, BYY Twe. 2,000

(4) DONVDT ROROD
23,0 FOBWY 3000DAN)
BBCOOR  TRE, JHO,0N
C. 500

WBITOR,NFC) DN &3
FTENS Vo)) O03TOA,,,LOD
BBNY D000 8300E DHyT
TB),0300NE ?

(1) AT ooTEne)

(2) ADRT%)

(3) O3Bt WOTTNRED

4) N, W0 NS

VISR B[OWO® FOTW® FO®

N 2X0° NI, 80.83. YOWA,,

(NFSIT) O3 Ao, @33

(1) SIDBI

(2) IDBI

(3) Tedd DI, IJ03Wo.S
EN0TYOOY, 0T3S ATAET

4) DT D3I

43.

44.

45.

(16 - D)

SARFAESI 3003, 2002 T &3jz300

VB L3N

(1) 22950T° &NI), DVITIAS
ROR MY ToODE De3E AT

ANY ADPE 900
3,03 23303

(2) RIOMPTT A
ANOAARIAEIOW IR
PPN 50T N
BNI), WEITORY  ROA N
33,0030, 3BT 30BN
9N A3

(3)  DLAIT (1) D3, (2)
(4) BVD5)TR 9,

B TYTORBYNYD, O30T
MWOIOIN BT SWPI
A EBHBNOCNTIH D). ?

(1) 23633 dad AN

(2) VFRI* YIRS,

(3) SRy OO 9T B

(4) OMIe3ce® RlelJOMD)
QSR B,

ADR 030,233

(1) o3t V00033
235230 ONE &)V 3I)

(2) 233D ONOIARIOWN
V0033 23583300 ONE
)T 3,

B) BRI DS V033
235230 ONE &)oL I

4) ©9JNOT® BOOT®
V00033 23583300 ONE
)T 3,
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Which of the following expense is
not admissible as deduction while
computing income from business
and profession ?

(1) Stock-in trade lost by fire
< 20,000

(2) Entertainment
< 10,000

(3) Commission of I 2,000 paid
in order to receive business

expenses

(4) T 500 paid as fees to a lawyer
for drafting the deed of
agreement of partnership
firm

A single currency is denominated
for the following international

securities issued in multiple

countries :

(1) Foreign Bonds
(2) ADRs

(3) Euro Bonds
(4) Gilt Bonds

National Venture Fund for
Software and LT. Industry
(NFSIT) was set up by

(1) SIDBI

(2) IDBI

(3) The Ministry of Information
and Technology, Govt. of
India

(4) All of the above

43.

44.

45.

(17 - D)

The  prime
SARFAESI Act, 2002 are
(1) Efficient or rapid recovery of

objectives  of

non-performing assets
(NPAs) of the banks and Fls.
(2) Allows banks and financial

institutions to auction

properties (say,
commercial/residential)
when borrower fail to repay
their loans

(3) Both (1) and (2)

(4) None of these

Which is not the Third Party
Administrators (TPAs) ?

(1) Life Insurance Corporation
(2) National Insurance

(3) New India Assurance

(4) United India Insurance

ADR is a/an

(1) Euro denominated negotiable
certificate

(2) Indian Rupee denominated
negotiable certificate

(3) Japanese Yens denominated

negotiable certificate

(4) American Dollar
denominated negotiable
certificate



46.

47.

48.

49.

346

AT T3, WRTTES0DN).
WOsONFAT  BESBNY  aee3
B V& T3S, 0o

BADOT FBONIINIH T ?
(1) LIBOR

(2) INEU

(3) INEC

(4) EUIN

TR RIS RBF ASeCIOD

300 RO, O30EHT) ?

(1) NABARD

(2) RBI

(3)  NYedIed ©92D33,R), 2W50T°

(4) YTIT NMYedNed  239;0F°
NI, W5 LIVsOTND

ARIOXIVOWERNOIADIO NNV R OMWDINDIA
9, FBI0ANI) ?

(1) 1905

(2) 1906

(3) 1907

(4) 1908

UNCTAD O &GB3C APNRYI),
SBRITIHTD

(1) TRET, WO AD

(2) Ty3DRE DT AD

(B) TY3PDRE 2DRTY A

(4) TY3PBRE VOO, AD

50.

S1.

52.

(18 -D)

1944 203, 1 - 22 T 3I%
W) T, Sog To50°
FOONT*IE). SBT

0BTOR,LOD SPET NI,
DOTOA) ANLF Iy & TENS
93P 903TR,,0D TOEITOAD
ROR MY T J[IN  dPaTAY,
2008 3D.

(1) IMF &>3), ADB

(2) IMF &3, IBRD

(3) IMF &3, IDA

(4) IMF &3), SAARC

D BIE POND e35° PsT,0°

DOTBSCNOES® 29,0330,

B3O AT

(1) BT DTOWBRE

(2) e:0 A3

(3) W&rer 2w DI, D
DT RFO°

4) NRPEFER)LTE BogIOET®

_

“BWOTPIE Bya3@LE30) DT

X3RS N3, Sy D3I,

eI, B0 NTBT) 0NN

NPDTPT” — 90ZTORA,,,LOD

29500 O] AW, 0333,

NRTBOR 2CE3 BRDRNG ?

(1) 3OVIT 3%, AW, 03

Q) ©PVTT I, AW, 03

3) RVWBOS ATREF 35T/
A 03

(4) VRV5)TBP 9
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What is the base interest rate paid
on deposits among banks in the
Euro currency market called ?

(1) LIBOR

(2) INEU

(3) INEC

(4) EUIN

Which is distributary agency of
Kisan Credit Card Scheme ?

(1) NABARD

(2) RBI

(3) Rural Development Bank

(4) Regional Rural Bank and

Commercial Banks

When was the Indian Mercantile

Insurance established ?

(1) 1905
(2) 1906
(3) 1907
(4) 1908

United Nations Conference on
Trade
(UNCTAD) holds its meeting

and Development
(1) Once in every year

(2) Two times in a year

(3) Three times in a year

(4) Four times in a year

50.

S1.

52.

(19 - D)

The International Monetary and
held at
Bretton Woods, New Hampshire
1220 1944
recommended the establishment

Financial Conference

during  July

of twin International Financial
Institutions, namely,

(1) IMF & ADB
(2) IMF & IBRD
(3) IMF & IDA

(4) IMF & SAARC

The Modern Theory of Factor

endowment was proposed by

(1) David Ricardo

(2) Adam Smith

(3) Bertil  Ohlin
Heckscher

(4) Gottfried Haberler

and Eli

“Perfect
existence for both product and

competition is  in

factor in both the countries.” —
Which theory of international
business 1s built on this
assumption ?

(1) Comparative Cost Theory

(2) The  Opportunity  Cost
Theory
(3) Theory of Absolute

Difference in Cost
(4) None of these
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€903TOR,,,LOD 3T,01
DN e33O  Oevn
92 3.T, WORI?

(1) ZPJ°29 1973

(2)  23€3; 19 2000

(3) 33016 1983

(4) ewEE 22 1993

3T,20x 3/e3000T3 &TT
AR SDIANN RRTPOD
PO, AFEDADY  FINI
O30S OINY), €3peTedoN
BORBRLICD ?

(1) 2303 I,

2 =93 Q0CB 3

VEONIT IO 23303

(3) RITTYOIMNID €320

€9a33CRTI 90TV 233
4) DT D). 90BN

WINPT, SRR DARITE).

RO, SWT 25030

252300 SN NPS03TW

933D

(1) SIND VAT W03
NY®BTT D300
YBe) 38,03 023,
29553 3RCORIZT

2) SAD) DRI 25033
NYBTT D300
BT 3,03 TLRD WY
3,0R3T

3B) TNWD RPAT BN 503
MYBIC  B30NS). Y33
23953),%D 2,08
eSN3I I

4) DT O350eHT3S €9€)

56.

57.

(20 - D)

B[RO, BTN IERFPE).
SR TORIES 003,533,
RRTEN eTTI3B) O30T ?

(1) dDODO BE3,

2) dADADO Ty

(3) ey

(4) [YINP). 00T 9.

FPNS Ooed ReAXTTEoe)
30,NG ?
(1) 88383 = 2w&, AN -

CHRERDOD WF3SNYY +
CISDINATOWERARIARCIALA

2) 8L + P RDHOD
WIBs3NYY + €939, 30D
WORSs3NeD = AT SANS +
BRL,IT/%FC), 3D

(3) 83 = AT SANS +
ToODEDO  WOWRY
A CEOIIMATOWRADIARCI LS

4) 83383 = AT SANS -

TOODE DO  WOBRY

DCETEBDOD 2305 3N
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Committee came into existence on
(1) 29" June, 1973

(2) 19% July, 2000

(3) 16" January, 1983

(4) 22" March, 1993
According to the Accounting
Standards on the basis of which
factors the amount of depreciation
to be charged is determined ?

(1) Historical cost

(2) Expected useful life of the
asset

(3) Estimated residual value of
depreciable asset

(4) All of these

When cheques are recorded in
cash book but not yet credited by
bank in the meantime

(1) cash book will show more
balance than the bank shows
in customer’s account.

(2) cash book will show less
balance than the bank shows
in customer’s account.

(3) both book
customer’s account show the

cash and

same balance.
(4) None of these

56.

57.

(21 - D)

The first attempt to value human
beings in monetary terms was

made by

(1) William Petty
(2) William Pyle
(3) Shultz

(4) None of these

Which of the following equation

is wrong ?

(1) Equity = Total Assets —Long
term liabilities + Short term
liabilities

(2) Equity + Long term liabilities
+ Current liabilities = Fixed

Assets + Current Assets

(3) Equity = Fixed Assets +
Working capital — Long term
liabilities

(4) Equity = Fixed Assets —

Working capital — Long term

liabilities
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B FENISINT ), BRODA.

RE3,-1 A

A. AS-1 . 3T3cen
DRONY
AL SINVOIATNY

B. AS-9 ii. 3R

C. AS-14 iii. 3000
[AMONERNINE:S

D. AS-19 iv. 33,33,
ENIRETOWINGY
2&3on
RRRIYHT

E. AS-02 v. ROR.
)OCI3MN
33,83,

TR ARE e3Ad),NP0T

RO0T V3 3BT,N

ROTLIZ30,04.

A B C D E

(1) iv i v i i

2) i iv v i i

3) i iv v i il

4) i i i iv v

AS-21 T &®zoC TRGRLTOAT

BEDTOAD BINPI),

303500RHT D3I,

EDORBAIYHTI

A. ORRST TOIA)

B. RTBoODT/FRTT FOT)

(1) AsdDoeg

(2) B3

3) A3, B XTBR

4) A e3nedt 9T B esnee
O30 TR 9

60.

61.

62.

T FINISYHNS).
NIAVOIRYONWIAT D
e3NTORHND), ?
(1) &300T° T3y,

(2) ERVIORE W

(3) 3E30° ese* YOT0ES®
(4) oDy I

OMDIN AN
QA0 0E3°

88 TENS 00Ty [ARL3
BRBNMNODT INTIH DD,
(1) DT SN

@0e33R230TTI 2N
(2) WOTIRWETOTW D) NP
(3) VBT AN
4) DONBT NI W&,

BRODA 20TAND.

RE3, -1 &3, —1II
A. 5T, i W53AIWS
300° 204,33

COIAe)
B. F.W. ii. PITTTdo
(X{Slox 23,3
BICOIMed!
C. B iii. SWPI3T
FAOWOIN A3 T JoA
ATY,03T
ACOIAe)

FER AT e80dH,NP0T FDOIT

(22 -D)

V3 BT,N ROTCIZ[V,04.
A B C

(1) i i il

(2) i i i

(3) iii i i

4) i i il
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Match the following :

List-1 List-11

A. AS-1 1. Valuation of
inventories

B. AS-9 1. Lease

C. AS-14 iii. Revenue
Recognition

D. AS-19 1iv. Disclosure of
Accounting
Policy

E. AS-02 v. Accounting for

Amalgamation

Select the code for the correct
answer from the options given
below :

A B C D E
(1) iv 1 v i i
2) i v v i i
B3 1 v v i i
4 1 1 1w iv v
AS-21  Consolidated

Financial Statements are prepared
and presented by

As per

A. Holiday company
B. Subsidiary company
(1) Aonly

(2) Bonly

(3) Both A and B

(4) Neither A nor B

60.

61.

62.

(23 - D)

Following 1s not a negotiable
instrument :

(1) Demand Draft

(2) Travellers cheque
(3) Letter of Indent
(4) Personal cheque

Following item is not current
liability :

(1) Outstanding rent payable

(2) Bills payable

(3) Sundry creditors

(4) Interest on advance

Match the following :
List—1 List — 11
A. Max i. Father of
Weber Management
B. F.W. 1. Father of
Taylor Bureaucracy
C. Henry  1ii. Father of
Fayol Administrative
Management
Theory

Select the code for the correct
answer from the options given
below :

A B C
() i i i
Q) i i i
(3) i i i
@) i i i
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QT3 OVWOIN €903
a0958),003T 7-S I 2FOTESS
R ETN). ?

(1) TIONEIO0SI,

(2) ASRE [ABFHON]

3) OB

(4) DVOWTPOW DN

QOBFT®  [OJNDS] 33331
TOWORA- 03 03503
BXPT/NP) ADOINGES ?

BCDF 1 : BPA NTBRLNT BRI

BORTBVLROT NI), TOBDOD

AN DD, DWORINT D,

BDLFONRIY)-TNRI 3.

BCDT 2 TOTIODI,

INTROTTOT AINOIE

INDINTALVAN €9a33E).

VLRI NI 3.

DI INF ). O30T/

RONED 7?7 TP D3I

30),NPLOT RO V3 TTe,N

ROTCIZe30,04.

(1) RNTBR
Efelovolalercin

(2) RNTBR
AOOVNTVRH DD,

(3) LT 1 IDCHNT, BECPT
2 ADONTIRH DD,

(4) TPT 1 IDCHINTTE BEPT
2 ROCN3H3 I

XPIND

XPIND

65.

66.

67.

(24 - D)

SWOT J3(RBOD 9RO,

2035 LHOINF T, MTI3A.

(1) €93TINH PAVCH]
TNWEDINED

(2) ©TTIND) NI, PWOINRY)
(3) TN DI, DWEFDOINED
4) 3IND DI, BZOINH

2003 AR, BCG 23305833
S I3, 2333,030 3
FINIST, FRWVBANIT

(1) 9T B3SO
Mo TRDIAMALEA - DT
BT ES,, BT

2) JINAS D’/W, VP33,
T, DR W3 930
BPBBROD 3Ty HowNRY
RATONTA RN STNDIAMALA)

B) Ao -  BP3BRoD
DN PR FOWORI D3I,
20T  TFOBIO FLD
ROWOR3I 00BTES,
2 {OINNY BRODTES
Mo TNRIAMALES

4) DT DD WF3BROD
33 WOTWD FOBANMN
FTRXD BTE, 3TIS,
330200 E30M1%h)

WER — BFEERCTy) 3,
ARLU NS Todo WLBINTI,
FRFOT,N W D). TR,

e3TAE AT, N 22020003
TOODE TN, N5 AIATT3
T3 BWT, VBT HBOMI .

(1) =oDeE,3 v 30T

(2) 2BeT03.T T 30N

(3) 80/20 33,

(4) P03 TR T 307
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Which is not a component of

McKinsey’s 7-S framework ?

(1) Strategy

(2) Synergy
(3) Structure

(4) Shared values

Pertaining to induction training

which statement/s is/are correct ?

Statement — I Familiarizing
the new employee with his new
surroundings and company rules

and regulations.

Statement — I : Developing in

him a favourable attitude towards

the company.
(1) Both Statements are correct.
(2) Both Statements are incorrect.

(3) Statement — I is correct while

Statement — II is incorrect.

(4) Statement — I is incorrect.

while Statement — II is correct.

65.

66.

67.

(25 - D)

Identify external environment
factors under the SWOT analysis.
(1) Opportunities and Weaknesses
(2) Opportunities and Threats

(3) Strengths and Weaknesses
(4) Strength and Threats

In a typical BCG Matrix Question
Mark indicates

(1) Businesses which are high
growth — high market share.

(2) Businesses which generates
large amounts of cash but
their rate of growth is slow.

(3) Businesses which are related
to slow — growth industries
and where a company has

low relative market share.
(4) Businesses which are high
industry growth but low

market share for a company.

When British hardware designs an
advertising programme to attract
‘all comers’ for buying hacksaw
blades in its stores, this 1S an
example of

(1) Concentrated Marketing
(2) Differential Marketing
(3) The 80/20 Principle

(4) Undifferential Marketing
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3,8, e NFPTE).  WwPHROTB
UVCOINAIND ©O3NY 20830,
2035030304 SlqatelnN
INCETORWIITD

(1) 3, S, LT e3P
(2) O3Sy LT A T3

(3) IS,  NJBT Do),
[00T3,]

4) W3, NIHRW N
[dA0T]

TE, OPIEONYY &3,

B3 APoFT, DI3TW  WBs5a3A,,
2Z0%0003) WRTWLOWR, D3
QAONNPOTI
BTN, E3, 33 T.
000&MeCON BIW TS
BOATRI,BE SO TR, &3
ePIAN! V50300 O0NNY
DOs00N WD 9DII
€33 TI AN, eepIARIA])
299033 ¢C). 20053003 2300200 NY
a30¢e3 BODOD €303
N[OWINA LS FSNSHYNS ).
O30 H T ?

(1) 290830 TOT) T, 1872

200N

(2) NYDT OFFo0 ToOR, 1992
3) (1) D3, (2) DTBR
4) (1) &sne e (2) Snt

(D)

™

70.

71.

72.

(26 - D)

BE, — 1 DI, |WE, — 1T [,
BLRODA APT, Q3T RRWA.

RE3, -1 &3, —1II

A. 23935 i. R AT
WBIND

B. 3x33ten ii. 23e3 AJeo
N[OWelc]Txo

C. Afe03 iii. Tye33ES

T

D. ABEBIT  iv. P0T TS

ROWOT3 T

TR ATV e30H,NP O DO
Q3 TT,N ROTCZ[9,04.
A B C D
() 1 1 m 1v
2) 1 1 iv i
3) v 1 i i
4 1 1wv m 1

“200T0FE3, DOZPEDHOID 0
T2 2330, RPTWO 20001
VO3RN AT O350T ?

(1) DOT* TR T

(2) TOODEF 323 Je>

(3) DONTWRCT® 3e)E3*

(4) B FPTEE

& BENIINTE). 030
2T e3 FOTIREL N)e3EBHBO 3
P I¥) wPReot3yDe). ?

(1) 233

2) I3

3)  Fyodhned

(4) TOODEDIE DD
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Total number of product items

included in product mix s

classified as

(1) Depth of product mix

(2) Consistency of product mix
(3) Length of product mix

(4) Width of product mix

Marketing decisions are strongly
affected by law pertaining to
competition,

price setting,

distribution arrangement,
advertising etc., it is necessary for
a marketer to understand the legal
environment of the country and
the jurisdiction of the courts. If so,

then which of the following laws

affect the business in India ?

(1) The Indian Contract Act,
1872

(2) Consumer Protection Act,

1992
(3) Both (1) and (2)

(4) Neither (1) nor (2)

70.

71.

72.

(27 - D)

Match the List — I with List — II
and choose the correct answer :

List—1 List —II

A. External 1. Place Mix
Appearances

B. Inventory  1ii. Price Mix
control

C. Margin iii. Promotion

Mix

D. Public iv. Product Mix

relation

Select the code for the correct
answer from the options given
below :

A B C D
() i i il v
Q) i i v il
3) iv i i il

@ i v il i

Who  first
‘Marketing Myopia’ ?
(1) Philip Kotler

(2) Royal Dutch Shell
(3) Theodore Levitt
(4) Henry Ford

used the term

Which of the following is not
included in the 3Ps of HRM ?

(1) Price
(2) People
(3) Processes

(4) Performance
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INONOVWER VTN
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28IATOD I3

RAIRORN AV RSN
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4

ST
RAOWPNP03>™
DEGRE 50 ART3Y  aNIY,
AT E BT
3523, BWT T,
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4

DYTOLT 930003
RO NT LI9IFDT03
Q) FCIT® 9003
QP30 €903

322,36).
33,0,

~A0W0T3
RO

€T 323,
ROPLT 2323,
TOET 333,
OV 323,

(28 -D)

B FENISRINT S, BRCTA.

&3, -1 ®E3, - 11
(BT N) (0T LBNPY)
XITNS Bonte i.  HT,3
ROWPT ROTNTE T3
NN ool NDIOWE O

(SINIVATOWINGY
23020DRIT).
VOONTI 2330,
3RTBNRIHTD
ONT DT ii. VT RLNNY
OVl BOTNTRTI
NEID, TLN-
RRALRIHT
NS, iii. A3
IRNTPONE) VBRLNRT I,
NP ATPI 2T
XB,S SpdTZ v, o
ROWOPNFI),
RIPORIIHTID

FYR AR SAH,NPLOT ADOIT
V3 BT,N ROTCIZ[V0,04.

A B C D
() iv i i i
@ i i iv i
(3) @i i iv i
@ iv i i i
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Quantitative  process of job
evaluation does not include

(1) Classifying jobs

(2) Grading jobs

(3) Ranking jobs

(4) None of these

Comparison between numbers of
applications at each preceding
Stage of recruitment process is

classified as

(1) Initialization ratio
(2) Resultant ratio
(3) Application ratio

(4) Yield ratio

In recruitment costs, cost such as
salaries operating managers and

Public relation managers are

classified as

(1) Direct cost
(2) Indirect cost
(3) Labour cost

(4) Marginal cost

76.

77.

(29 - D)

is the wage which
must invariably be paid whether
the company, big or small, makes
profit or not.
(1) Fair wage
(2) Minimum wage
(3) Living wage
(4) None of these

Match the following :
List—1 List —II
(Concepts) (Objectives)
A. Wagesand 1. Engage the
Salary leadership in
administration supporting
the
development
of high
potential
leaders.
B. Succession ii. To reduce
planning employee
grievances
C. Fringe ii1. To retain the
benefits present
employees
D. High morale 1v. To improve
human
relations

Select the code for the correct
answer from the options given
below :
A B C D
() v m 1 1
2 i 1 iv il
3) m 1 v 1
4) iv 1 i il
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(1) A X3

(2) B3,

3) A3, B XTBR
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0300e) TR 9.

RO, NTB BetBINY NPV
BREY* N WOBDOTE 3,2
RODA [FYRY] DI, B3NS
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20ROT) FBODINMIZ T

(1) TYA* DT

(2) JYR® LuasO® W3

(3) R3O W3

4) ADEFR, B3

MM By ARS
T, 3030) B
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(1) ©YPOINY 9yRI.33

(2) ©YP0INY TyRIL.33

(3) ©P0IT 3003

(4) NYTADAS PIBTRP) DT

(e3550T
FPNSTTC

81.

82.

(30 - D)
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2 3532893
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W ROT RTINS
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023, ReHTI
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The particular discount rate that

equates a project’s cost with IRR

is so special because

A. The IRR on a project is
expected rate of return.

B. Taking on a project whose
IRR exceeds its
capital

cost of

increases
shareholders’ wealth.

Which of the statement/s given

above is/are correct ?

Select the code for the correct

answer from the options given

below :

(1) Aonly

(2) Bonly

(3) Both Aand B

(4) Neither A nor B

The cost of capital at which the
NPV profiles of two projects cross
and thus, at which the projects’
NPV’s are equal is called

(1)
2)
3)
4

Cross rate
Crossover rate
Equilibrium rate
Specified rate

MM Hypothesis argues in support
of the

(1)
2)
3)
4

Irrelevance of dividends
Relevance of dividends
Residual dividend
Retention of earnings

81. Bird in hand argument states that

82.

(31-D)

(1) Shareholders would favour

dividends to retained
earnings.

(2) Shareholders would favour
retained earnings to dividend.

(3) Companies would favour
retained earnings to
dividends.

(4) Companies would favour
dividends to retained
earnings.

Stock splits is a method used to

(1) Lower the market price of
the

number of shares belonging

shares by increasing

to each shareholder.

2)

Lower the market price of

shares by increasing the

number of shareholders.

(3) Increase the market price by
increasing the number of

shares.

(4) Increase the market price by
decreasing the number of

shares.
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Rg0),00e e[ FI), EBT
NI, SWIS
38, 85nIH T

(1) 08NS
(2) 28D, [T,
(3) EBIT

(4) PAT

T FENISYNP ). O30e)T3) A
AN ?

(1) QT3 WOTWY
(2) 88383 WoBY
(3) TS YO°® LHDODAE

@) APOBIND

RACBERD® 30D
TOWORAT

QTIT,

(1) OB I3
(2) TOLBOTYF eI
(3) ID/LITOAS DI
4) ©23903 A3

BTN OC3TCe S
AB/ONTBLODNR
3T, B0TOMI .

(1) 323, 3, EPS
(2) RVF, DI, WOBRY
(3) EBIT &3, EPS
(4) PBT &3, EPS

87.

88.

89.

90.

(32 -D)

Ce. 20 23303 RBINF, Te. 50
303 5% ARCBODE).
DOCDAITS.  LABOWY WT

1350 B8 SBOHERT W,

2
3053

1
135%

(1 12% @ 133

1
165%

3) 15% 4) 165

2-32 I x R’ ®0WOHARBO3I

‘Gaww&w\)

1 —3x2

ey (2)
2-3x2 \/2 - 3x2

3x —3x
3) 4)
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P RN IO A NNNEATALIN A SR
DY, HOINTD

(3) N3To ITBNY
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W 3, SOPRPRAIE MIB0T-
IATOIAN &03¢0D SOPMeDT
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1
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Financial leverage is computed
between EBT and

(1) Sales

(2) Total cost
(3) EBIT

(4) PAT

Which of the following is debt
funds ?

(1) Authorised capital
(2) Equity capital
(3) Calls-in-arrears

(4) Debentures

Gordon’s model is related with
(1) Capital policy

(2) Funding policy

(3) Financial policy

(4) Dividend policy

Financial leverage is calculated
with the help of

(1) Cost and EPS
(2) Cost and Capital
(3) EBIT and EPS
(4) PBT and EPS

87.

88.

89.

90.

(33 -D)

A man buys T 20 shares of ¥ 50 at
5% discount, the rate of dividend

1
being 135%. The rate of interest

obtained is

(1) 12% 2) 13%%

3) 15% (4) 16%%

The derivative with respect to x of

\J2 —3x2 is
1
O 2

-3 x2

@) A2 — 3x2
3x

O 2
—3x

) A2 — 3x2

Under the factor listing method

for forecasting, one has to identify

(1) Lead factor

(2) All factors which are likely
to influence the business

(3) Past time series

(4) None of these

If W is chosen as smoothing
co-efficient in exponential
smoothing method of forecasting,
then the trend factor is

\Y \Y

O Tvw @ a-w
1
3) W 4) (WV\_] 1)
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WO BRET, ST, ol
9;0T0° &§ ALLROIN 25050T0®
S nYsad 21 ]S,
RRCBOD BTy YB3 .

(1) 4%

) 5%

3)  5.5%

“4) 6%

ANV

4P — 5Q + 2X = 0 OO,
BPT;AB03 BT X

23300, TORBY Go&AND.
1325
ifP=| 2 1 3 -1 |
042 3
2 4 3 1
Q=| 37 4 2
531 8
T 3 4 772 157
() X=| 72 31 4 -3
L 252 -1 -3 14
3 4 7/2-1527]
2) X=| 72 31 8 -3
L25/2-1/2 -3 14
3 4 721572
(3) X=| 72312 4 -3

[ 2512-12-3/2 14
T3 4 72 15
@ X=| 7 31 4 3
[ 252 -1 -3/2 14

93.

94.

9s.

96.

(34 - D)

QRT3 W30, TOT3 3&AND.

3 16 25 81
log§+7 logEJr 5 logﬂ+3 log%

(1)y 0 (2) log2

3) log3 (4) 2log2

x Ny VSNRYI, TOWD
ZoEOND.

S+5=40,5+% =66,

(1) x=80,y=100
(2) x=100,y=280
3) x=80,y=120
(4) x=120,y=80

QRT3 W30, TOTBY 3oTAND.
1

j(5x4 —6x2 + 10x — 24) dx

0

(1) 20 (2) 20

(3) 32 4) -32

200D V|VREBAD), 020D

2,03 TWVEIONS), ITVFOINY
330 m083s030 50 3. 10
9033 <) je300959)
WonLedI), 60 B, 10 VRIS
TN BTRCO,ITE). BT
Rjedodey) 120 3¢). 10 YB3 3.
TS S SNOAYE), BIR,
20T INTTOY NI 9T 3ING

FO35s300), TOWY o&AWD.
7 15

M 73 2 13
11 13

G 13 “4) 13
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A banker’s discount calculated for
one year is 21 times banker’s gain.
Then rate of discount 1s

(1) 4%
2) 5%
3) 5.5%
4) 6%

Find the value of matrix ‘X’

which satisfies the relation
4P -5Q+2X=0
1325
ifP=| 2 1 3 -1 |
042 3
2 4 3 1
Q=3 7 4 2
531 8
3 4 72 15
(1) X=| 72 31 4 3
| 2572 -1 -3 14
3 4 72-152
2) X=| 72 31 8 3
| 25/2-1/2 -3 14
3 4 772 15727
3) X=| 72312 4 3
| 25/2-1/2-3/2 14 _
[ 3 4 772 15 7]
4) X= 7 31 4 3
| 25/2 -1 -3/2 14

93.

9.

9s.

96.

(35 -D)

Find the value of

10g%+7 log}—g%- 5 logg—i%- 3 log%
(1) 0

(2) log2

(3) log3

(4) 2log?2

Find the values of x and vy, if

XY 40X Y_
5+4—4O,2+5—66.

(1) x=80,y=100
(2) x=100,y=280
(3) x=80,y=120
(4) x=120,y=280

Find the value of
1

J (5x% — 6x2 + 10x — 24) dx
0

(1) 20

(2) 20

3) 32

4) -32

The chance of an accident in a
factory in a year is 10 in 50 in
Bombay, 10 in 60 in Bangalore
and 10 in 120 in Kolkata. Find the
chances that an accident may
happen in atleast one of these
cities.

7 15
(D 13 2) 13
11 13
3 13 4 13
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8 Qo NY, 12500 A®
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FORB oTOND.

(1) ROAD =4, 30.0). = 1.414

(2) ARTIAD =8, a399.ed. =2.56

(3) ATIRD =4, d.e). =2.56

(4) RTAD =4, 2399.e). = 1.96
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100.
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8 coins are tossed 12500 times.
Find mean and standard deviation
of heads.

(1) Mean=4,S.D.=1.414

(2) Mean=28,S.D.=2.56

(3) Mean=4,S8.D.=2.56

(4) Mean=4,S.D.=1.96
Insurance Regulatory and
Development  Act, Section-14
deals with

(1) Protecting the interests of
policy holders in matters
related to nomination by
policy holders, claim
settlement, surrender value of
policy, assigning of policy

and  other terms and
conditions of contracts of
insurance.

(2) The percentage of prescribed
premium income received
from the insurer.

(3) All properties owned or

controlled by the authority
shall, until the authority is
reconstituted  under  sub
Section-(3); rests in the
Central Government.

The Chairperson and the
members of the authority
shall be the Ex-Officio
chairman and Ex-Officio
members of the Insurance
Advisory Committee.

(4)

99.

100.

Banking Regulation (Amendment)
Act, 2017 shall be deemed to have

come into force on the

(1) 14" Day of May, 2017

(2) 1% Day of April, 2017

(3) 4% Day of May, 2017

(4) 25" Day of August, 2017

“The Standard rate at which it
(RBI) is prepared to buy or
rediscount bills of exchange or
other commercial paper eligible
for purchase under this act.” This

definition of Section-49 of the

RBI Act is applicable to

Current Reserve Ratio

(1)
(2) Bank rate
3)

Re-discounting rate

(4)

Open marketing operations

(37 -D)
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